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Question Number : 1 Question Id : 3354726831 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who was the first Chief Justice of Madhya Pradesh? | Bed WS & Ugel J&I ~QTATetar &1 917

Options :

1. ¥ Justice P.V. Dixit | ~omid ur.dt gHiga

2. ¥ Justice M Hidayatullah | ~am@Mid UH R

3. ® Justice H. ] Kania | ~I=dfd 0= o #1441

4. % Justice Ajay Manikrao Khanwilkar | ~I=g[d S ATV QIR

Question Number : 2 Question Id : 3354726832 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Wwhich is the space shuttle in which the Indian-born astronaut Kalpana Chawla went into space for the first

tirme? | IRa § AT S ies AT Teu=T SadT Ugell oK e STy I o sy § 7 i
Options :

1. ¢ Columbia | ®idtedT

2. % Discovery | TEe@madt

3. ¥ Enterprise | TetWEA

4. #® Atlantis | sEATCT

Question Number : 3 Question Id : 3354726833 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who established the four Mathas in the four corners of India? | YRT & IR T § TR 75 e ST e

Options :
1. ¥ Ramkrishna Pararmhansa | YHguT UTHge

2. % Swami Vivekananda | Tamdt dewHg
. ¢ Shankaracharya | ST
4. % Swami Dayanand Saraswati | ! Sde aiead

L

Question Number : 4 Question Id : 3354726834 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

“World Cancer Day’ is celebrated on ______________ of every year. | ‘Torar &ew g, wade o
AT 4T 21

Options :

1. ¢ 4th February | 4 Bl
2. ¥ Sth February | 5 Beal
3. % Gth February| 6 wead
4. ¥ 7th February | 7 el

Question Number : 5 Question Id : 3354726835 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Wwhich former sportsperson was appointed as the most recent Sports Minister of India? | gie g1 # T qd FEwt
T ARG & Wl BT & &0 # T T mar a7

Options :

1. ¥ Virendra Sehwag | &g dgamT
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[

. ¢ Rajyavardhan Singh Rathore | Tas fig waR
¥ Gautam Gambhir | Taw TR
® Saina Nehwal | |TEAT AgaTd

L

e

Question Number : 6 Question Id : 3354726836 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

which one of the following states will host the National Games of India in 20197 | FEHET # G @9 arT=g
2019 H AT & TEI HeAl &1 BT HT?

Options :

1. ® Assam | e@H

2. ¥ andhra Pradesh | 3171 W&
# Haryana | gieamm

4 % Maharashtra | HgRTYE

w

Question Number : 7 Question Id : 3354726837 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

How many languages appear on a new Five Hundred Rupee Note, apart from Hindi and English? | w=r €1 &0y &
T AIE UE TGaT e SIS o SIATaT fohd =T HIaT Wi 58 &7

Options :

1. % 14

P %25
¥ i
4. ¥ 15

**

]

Question Number : 8 Question Id : 3354726838 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which of the following is the eastern most state of India? | FEAET # & IRT &7 Gad Tl (o & a7 57

Options :

#® Assam | eEH

® Nagaland | 97TdS

. ¥ Arunachal Pradesh | SRTEA Wea
4. % Mizoram | TR

=

L

Question Number : 9 Question Id : 3354726839 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0
Where in India is the National Sports Museurn going to be established? | ¥RT # TP 9 SUgIAT @5l ST feram

Options :

. ¥ Patiala | wieaTT

# Bangalore | @R

® Hyderabad | %m

. ¥ New Delhi | 9% [Srat

=

M

W

N

Question Number : 10 Question Id : 3354726840 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct : 1 Wrong : 0

What is ‘Jaya Samhita’ better known as? | ‘T4 GigdT @ d5d¢ [0d &0 H FET AT 57
Options :

1. ¥ Mahabharat | AETHRT

2. ¥ Ramayan | TATIIT

3. ¥ Samaved | 9T

4. ¥ Rigved | |

Question Number : 11 Question Id : 3354726841 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Rani Durgawati is associated with_____. § T et ______ T g

Options :

1. ® Rewa | €T

2 # Gwalior | TaTfeiaR
3. ® Panna | ugT

4. ¢ Jabalpur | F&@YL

Question Number : 12 Question Id : 3354726842 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Where is the Security Paper Mills located in Madhya Pradesh? | A2 0ear # Oidfd @ SRGMT Fgl 60T 57

Options :

1. ¥ Hoshangabad | glamTeng
2. ® Dewas | ¢a9

3. ¥ Gwalior | TaTferaT

4. ® Dhar | 9%

Question Number : 13 Question Id : 3354726843 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The district head quarters of Singrauli 15 situated in

Options :

1. ¥ Waidhan | g7

2. ¥ Singrauli Nagar | TR 9
® Sarai | W

% Chitranji | Tt

w

-

Question Number : 14 Question Id : 3354726844 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Where in Satna is the Gola Math situated? | FF=T | AT A5 FET 62T 27

Options :

. ¥ Maihar | Bg¢
¥ Nagod | AmmiE
® Paran | URA

!\J»—l

RS,

¥ Raghuraj Nagar [ g0 TR
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Question Number : 15 Question Id : 3354726845 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Where is the group of 22 ternples, datin% fro%n; the 8th to the 12th centuries, situated in Morena? | ARATH S &

128 sTleaal @ S 22 Higl &1 qqg w5l
Options :

1. ¥ Naresar | T&X

2 % Joura | ST

3. ¥ Jawia [ ST

4 % Noorabad | RTeg,

Question Number : 16 Question Id : 3354726846 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0 _
Name the mountain range in Hoshangabad. | §lamTaTe # W20 Uda s@arst & 97 adqT

Options :

1. ® vindhya | feea
2 ® Aravali | eRdw!
¥ Satpura | &GS
¥ Maikal [ Aot

S8

-

Question Number : 17 Question Id : 3354726847 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
On the bank of which river is town of Balaghat situated? | T 72T & 92 WX STATHE FT 957 2T 57

Options :

1. ¥ Narmada | 7Har

> ¢ Wainganga | 39T
# Shipra | famr

® Betwa | &adr

]

(9N}

e

Question Number : 18 Question Id : 3354726848 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The 'Souté‘i Asian Speakers' Summit 2017 was organized at ________ .| ETET utdeTE st T e e 2017
THET &m

Options :

1. ¥ Nagpur | 9TqE
2. ® Jaipur | SR
2 & Indore | T2IT

4. % Raipur | TR

M,

Ll

Question Number : 19 Question Id : 3354726849 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The river that separates the western and eastern part of the Gandhisagar sanctuary is_____ | TR e
o Uit 71 Ot T T STRT FA ATe T Aar

Options :
1. ¥ Chambal | Z&e
2. % Ken | &



3. ¥ Son | @4
4. % Yamuna | IgT
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Question Number : 20 Question Id : 3354726850 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0

The first state in India to enact a law on Public Services Delivery Guarantee is

I T & Tl IRa § ugaT v &l
Options :

1. ® Siklam | Tigw
2. % Andhra Pradesh | 31 naar
3. ¥ Madhya Pradesh | Re ugar

4. ® Odisha | sifEem

General Maths and General Aptitude

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:
Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:
Sub-Section Id:
Question Shuffling Allowed :

335472204
2

Online
Mandatory
20

20

20

Yes

No

1
335472204
Yes

Question Number : 21 Question Id : 3354726851 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The sum of 2 numbers is 204, Ratio of first to second is 2:2 and the ratio of second to third is 5:2. Then the

second nurmber is: | 3 GEATE B MG 204 31 WIH BT Tga 9 § SquTd 2:3 § S T 14 &7 O 9 argurd 5:3 31 a1 fidt

TET 5

Options :
1. ¥ 50
® 54

*® 102

W

¥ a0

LN

Question Number : 22 Question Id : 3354726852 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0



10th Dec17 Shift 1

The square is 6 x 6 and all the strips are of equal width 1 unit. The fraction of the square shaded black
is _/ad 6 x6FT & IR T ufEAm 1 s & awex diss & £ seoifed Fer g &
39T ol

-l

Options :

L. ®aps
2 % 2/3
3 W FiLE
4. % 5/12

Question Number : 23 Question Id : 3354726853 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Fill in the blanks: / Red Fur=T #1{:

2 xHlz= (x+4)
Options :
1. ¥ x-4

™

® 2
X—5

(W]

¥ %43
4 % x+4q

Question Number : 24 Question Id : 3354726854 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

From the set of numbers {2, 3, 5, 6, 8, 9, 11, 12} we need to select 4 nurmbers whose surmis 21. Find the
largest nurmber that can be a mermber of such 4-element set. | {2, 3,5, 6, 8, 9, 11, 12} wamsi & aqga 4 gH 4
TR T T FEAT & o] AT 21 31 39 ATwdH GEar &1 A1 &1 A1 59 4 SFEal & Gggd B 9eed 51 gad 8l

Options :

o % g

L

4 ¥ 11

Question Number : 25 Question Id : 3354726855 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
A right circular cylinder has base circurnference of 44 cm. If the height is double the radius, then the volume

iS___. | U e i1 sleld @i ST Uieler 44 #T 81 Al Fams, e &t g g, av srmad

Options :
1. % 2156 litre | 2156 &2
2, ® 215 B litre | 2156 Fle
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¢ 2 156 litre | 2.156 #ieT
4 % 02156 litre [ 0.2158 &Y

w

Question Number : 26 Question Id : 3354726856 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0
By what should 78 be multiplied to get 72?/ 729Ttd & & folv 75 &l fohder & 10Tl forar

ST dIfgU?

Options :

w 74
1. %
1

2. ¢
3 % 7
1

a % 7

Question Number : 27 Question Id : 3354726857 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Solve: | |G HE:

im+4n) ( ____) = Sma+mb+Ena4nb
Options :
1. ¥ Sa4b

2 % 53-b

w

® a45b
4 % a-5p

Question Number : 28 Question Id : 3354726858 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Find the average. | 3 e

17, 76, 24, 45, 12
Options :

1. ¥ 33

® 34

[

% 38

RS

Question Number : 29 Question Id : 3354726859 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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The studentsin a class took a Math test. Two-thirds of the bovs and % of the girls passed the

test. It is noticed that an equal number of bovs and girls passed the test. What is the minimum

possible number of students in the class? / Ueh @&l 3 eIl o AT T a&TT &
Qe o 3T S orsfeRalt & et Sedoh @ o @ dwn T ¥ sk Ak

oIsfardl T aXTeR /AT o GRIT Scdiol il HaTm A eaiiaat 1 =eran asfad
TEAT F4T §Eie?

Options :

1.v17

2 ® 12

3 ¥ 34

4 ® 24

Question Number : 30 Question Id : 3354726860 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A train which is 150 m long passes through Raj travelling at a speed of 36 kmfhr. How long will it take for it to
passaRT%‘? | T ST ST o 150 HiTT w8, 36 Tt o &1 id & a6 §U T H1 UK BT g1 T HUR @ # Aqg T
AL T

Options :

1. ¥ 20sec [ 20 9@
2. ® 18sec | 18 G
3. ¥ 15 sec | 15 @@=
4 % 12sec | 12 9F08

Question Number : 31 Question Id : 3354726861 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The big triangle is equilateral with area 18 sq.cm. The 3 lines are parallel to the sides trisecting

the sides. The shaded areais ./ &3T [A&IUT T m’@ % g alFher 18 g9t AT %I
3 Y@V T3 H FARANAT AT §5 3T & FAIRK bl H=oIed alahel
el

Options :

1. ® gsq.cm | 6 @i QT
2. ¥ 9sq.cm [ 9 o |HT
3. % 11sq.cm | 11 anf |#F
4. ¥ 12sq.cm | 12 af g4
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Question Number : 32 Question Id : 3354726862 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The number of students who opted for IT courses decreased by 23%. If the number is 1540 at present, then
the original nurnber of students opting for IT course was: | UTERIGRHT T T2 el el BT ol §edT § 23% i
T 31T 81 Ale da AT H & &7 1,540 2, TT A8 el TSk Al T o F aiet o1a1 @l g g ot

Options :
1. % 1600

® 1300
¥ 2000
® 2200

RV

L

-

Question Number : 33 Question Id : 3354726863 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Five yvears ago, the respective ratio of the ages of ¥ and ¥V was 6:5. 10 years hence, the ratio of their ages will

. : J ] < — .
g?ﬁﬁ@%ﬁé%ﬁ%@ | Uier A e, ¥ S Y TSI @ Heted SruId 6:5 oM 10 aY W, S9! 1T @ AT
Options :

1. ® 2Syears | 25 a4
2. ® 30 vears | 30 99
3. ¥ 35S years [ 35 a4

4. ¥ MNone of the above | I0d® ¥ § ®13 751

Question Number : 34 Question Id : 3354726864 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

What is the length of a rectangle whose breadth is 11 ¢m such that the area of this rectangle is same as the
area o%f’_a circ%e?with diameter 14 cm? [ 11 TAT ST & AT B FaTs TAT G E®T S906d 14 A1 <0 & g &
YA o HH &

Options :

1. ¥ 14cm | 14 99t
® 15cm | 15 94f
® 16cm | 16 9t
® 17cm | 17 94

AW

Question Number : 35 Question Id : 3354726865 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the square of the cube of 67 | 6 & O9 T a7 FAT 57

Options :

.
O,
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Question Number : 36 Question Id : 3354726866 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

If two supplermentary angles differ by 20 degree, then the smaller of the two anglesis____. | ITe & HyX® FI07 &
T 20 T ST 7, TG B H TG 2

Options :

1. % 80

> ¥ 30

3. % 100

4. % None of the above | I0® § § F1 51

Question Number : 37 Question Id : 3354726867 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
T£4320 = 29 x 3% x 5 _ then find the value of a_band c. /T 4320=29%x 3% x5 dra b

IR ¢ &7 A FT

Options :
i, ®§ =5 k=82
2 %3a=-4Db=3c=02

Question Number : 38 Question Id : 3354726868 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the value ofﬁfﬁi+qf§—5? / «.J{1_6+J§—5 ohl Hld T E‘?

Options :
1.v¥2

Question Number : 39 Question Id : 3354726869 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The total sum of angles in the polvgon is:/HEBiGT #H DO &l E AR B

Options :
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. 808°
L 995°
. 650°
3 ®
4 o 1080°

Question Number : 40 Question Id : 3354726870 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

& box contains 15 cards bearing numbers 1, 2, 3, ... ... , 15, & card is drawn at random from the box. What is
the probability that number on the card is a prime number? [T R H1IS™E AT 1,2, 3, . 15 ®@&m 71
aﬁﬁﬁa@ﬁfﬁw%wwﬁaﬂmw@mﬁ w%ﬁmﬁmﬁ@mwmm@ﬁ?

Options :

Ll
§ ¢
o Ll

o
®
=

General Hindi

Section Id : 335472205

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472205
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354726871 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
T Tew JTT 56 & -
Options :

® gew

r

L
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4. ¥ 116H

Question Number : 42 Question Id : 3354726872 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

“fepeT TUTT o IR H T A1 TUT FH 6T AT 57
Options :

1. ¥ ey

2. % ggm

(W]

v

Question Number : 43 Question Id : 3354726873 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
T T B

Options :

1.¥¢

® 3

w

® 10

5

o

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 44 Question Id : 3354726874 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

RS
&

Question Number : 45 Question Id : 3354726875 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

FIET LR G RAC 1R G S e 8l
Options :
1. v T ar

r

L

Question Number : 46 Question Id : 3354726876 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘TG, W OAar! g # § @ | e

Options :
L ¥ rf-:” g
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2 8 yeARR
4 ® g B

Question Number : 47 Question Id : 3354726877 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
‘AT FA-FF AGTG! & (ol U Jog G H § 1 @187

1.«5 =
4. ¢ gid

Question Number : 48 Question Id : 3354726878 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

e T A TRgg MR A e @ AT E?
Options :

1. ¥ fg+aue

2 % Mat+ae

4 ¥ fq+wue

Question Number : 49 Question Id : 3354726879 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Frer &1 AW Jeg FEH G FT ATE?
Options :

1. ® mregw

> 8 G

4 8 gz

Question Number : 50 Question Id : 3354726880 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T IuET & T geg T H F i | e
Options :

1. ¥ T

Question Number : 51 Question Id : 3354726881 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
RTET-41AT deg § g § 9 @ | e g7

Options :
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® oy

- EE’I L2 HHTE

Question Number : 52 Question Id : 3354726882 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
19T BT GE T T A A BT ATE?

Options :
1. ¢ T
® oftar

P

L

-

M

L

g

Question Number : 53 Question Id : 3354726883 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
‘Bre W g 0 g H g E@ A e
Options :

-

Question Number : 54 Question Id : 3354726884 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TN TF T ST AT 58 F T a1 57
Options :

3. ¥ @y

4 ¥ g

Question Number : 55 Question Id : 3354726885 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

T 3T Hew |
o st SR

Options :

% Hlikin; 'S'IE"Elj ia
b3 '(:iﬁg:-m' ;

® JHF SFRW

r

3

-

Question Number : 56 Question Id : 3354726886 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
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TS I ST ST __ {5 AT T TV 19T 51’ 59 19 § USOTaT g, @ A A deg ad sy, Al W eI § T80

[
¥

w

4. ¢ Ty

Question Number : 57 Question Id : 3354726887 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
‘e A BIE GO A ET 59 U Jeg H AT BRI -
Options :

2 % aEd
3. ¢ s
4 *® iy

Question Number : 58 Question Id : 3354726888 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

e & ATEE JUET aTeT T5l feg & -
Options :

1. ¥ a@Eeeq

. gureTy

M

AW

Question Number : 59 Question Id : 3354726889 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

=t S TIRE BT - I TR WeRT BT e g7
Options :

1. ® FAeiis

g He T

4. % yuigrag

Question Number : 60 Question Id : 3354726890 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

“Miver @1 au- o aaEm
Options :

- TTTC T eROT R AT ()

2

w
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Rural Economy and Panchayati Raj

Section Id : 335472206

Section Number : 4

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472206
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 3354726891 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The main function of Technical Support Group at Panchavats is ______ | T ¥ e ! SR S g

Options :

1. ® Supervise the works | @7 @1 Uel§oT H=T

2. % Arrange money | € @1 SATGET HEAT

3. ¥ Give report | Taié 27

4. ¥ Assist in development plan preparation | @ T==T §9° #e- H GgMaT HeAT

Question Number : 62 Question Id : 3354726892 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Who functions as the Chief Executive Officer of Janpad Panchayat? | S-ug U= & J&T HIwe e & &0 i
FI FTL FAT 57

Options :

1. ®¥ Chairperson of the Janpad Panchayat | SUg U=Td T aredy
. ¥ an official of the State government | T4 GTHT HT T STTEHIT
% A Member of Legislative Assermbly | T &7 &7 U 9aed

LW

® Secretary of the Panchayat | T=ld &7 g

Question Number : 63 Question Id : 3354726893 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Which among the following is NOT a major fruit crop of Madhya Pradesh? | FEfeRaa & & @19 |7 U@ 727 7 &1
W Bl 1 27

Options :

1. ¢ Grapes | 3K

2. % Qrange | @

3. ¥ papaya | udiar

4. ® Banana | &dT

Question Number : 64 Question Id : 3354726894 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct: 1 Wrong: 0
which one of the following is a commercial crop? | gRET # & T4 97 BHA AT Had 57

Options :

1. ® Wheat | 7§
2. ® Rice | IEd
3. ® Maize | AT
4. ¢ Cotton | #mE

Question Number : 65 Question Id : 3354726895 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Who among the following recormmends the Mlmmum ort Prn:es (MSP) and issue prices for paddy and
wheat? | Fa@ET # & 19 gAad aueiq ge (GaE) ST &7 U TIg, o Tol 1 ST #edT &
Options :

1. ¢ Cormnmission for Agricultural Costs and Prices | @19 #Td Ud Hed & [o7 (=T
2. ® NABARD | ATee

3. ¥ Ministry of Agriculture & Farmers' Welfare | $i% Ud foraTe @eamm AaTAT

4. ® NITI Aayog [ Atfd s

Question Number : 66 Question Id : 3354726896 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the percentage of work reserved for wormen under MGNREGS? | MGNREGS (A=#T) & aigtiq AfgaATal & oy
nid e F T RIS F1d 87

Options :

1. % 172
v 113
® 114
®1/8

M

L

e

Question Number : 67 Question Id : 3354726897 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Asholk Mehta cormrmittee on Panchavati Eaj was appointed by the

The L, Sl government. | T=ITaE T T 0T ST
TS W ______ AT 21T THET 2

Options :
1. ® UpA | gdig
2. % NDA | TAEIT

3. % Congress | @09
4. ¥ Janata | S=4T

Question Number : 68 Question Id : 3354726898 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Primar;r Sector of the ECOHOI’H}F Isrelated to ______.
Options :

1. ¢ Agriculture | §iY

2. ¥ Manufacturing | 3eqga

# Information Technology | T WeimiT
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4. ¥ Transportation | Uitagd

Question Number : 69 Question Id : 3354726899 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The Balwant Rai Mehta Comrmittee suggested that the structure of Panchayati Raj should consist of _____. !
AR 1T HEdT FHe T GoTd o for U T ST EEATH _____ I Y
Options :

1. #¥ the village, the district and the state levels | T, T T Tvg w7

2. ¥ the village, the mandals, the district and the state levels | TTH, ASd, F#AT 3T =4 &G¢
3. ¥ the village, the block and the district level | TR, @2 3T T #79¢

4. ¥ the mandals and the district level | H2d 3T a7 €av

Question Number : 70 Question Id : 3354726900 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which of the following irrigation projects is NOT located in Madhya Pradesh? | Faiaias #§ & @9 | &=
UieT Heg wesr # 2T 51 5

Options :

1. ¥ Banki | =l

2. % Barna | aXAT

3. ¥ Indira Sagar | EfeT @R
4. ¥ Ban Sagar | a9 9T

Question Number : 71 Question Id : 3354726901 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Central assistance to Madhvya Pradesh under Shyarma Prasad Mulherjee REurbarn Mission for the wear 2017-18

ggﬁ%%een ______ { T 2017-18 o TolT STHT THTG, Gt Eald 109 o SaTd Aes TS T WS &1 175 g dgrar _____

Options :

1. ¥ Rs. 185-190 lakhs | 185-190 &g &0
2. ¥ Rs.191-195lakhs | 191-195 @G #07
3. ¥ Rs. 196-200 lakhs | 196-200 AT &7
4. ¥ Rs. 201-2101lakhs | 201-210 @TF &007

Question Number : 72 Question Id : 3354726902 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Wwhich is the branch of science which deals with prmoples and practices of soxl water and Ccrop management?
| T &t =g F i 9T B S ST, I 99T B e & rﬁ}ﬂzﬁlﬁﬁ

Options :
1. ¥ Horticulture | amTem

2. ¥ Agronomy | FU-TaaE
® Aerometry | g9qd o=
# Home Science | 75 TTa=

w

e

Question Number : 73 Question Id : 3354726903 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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Which one of the following is suitable for growing as a mixed crop with wheat? | AT # & o9 75 & T
TR wad & & § 3T & o7 3ugE 87

Options :

1. ¢ Mustard | &af

2. ¥ Sovabean | @M
3. ¥ Tomato | TART

4. %8 Tea | oM

Question Number : 74 Question Id : 3354726904 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the tenure of a Panchayat? | U=ITad @7 STH@Td Thd-T 51T 57

Options :

1. ¥ 5 years from the date of declaration of election results | FHTd UoNH ST g1 @ [T & 5 af
. ¥ 5 years from the date of first meeting | Tgelt daw & 5 a9

% 3 years from the date of election of chairperson | sredy & gTa &1 fafdr & 3 af

4. % As decided by Gram Sabha | ST I T &R et R sy

[

L

Question Number : 75 Question Id : 3354726905 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The amount provided by Central Government under DRDA Scheme for the year 2016-17 is between _______. !

g THR ERT 2016-17 ¥ 160 SIS AT & 959 UaT @1 T2 e
Options :

1. ¥ Rs. 250-255 crores | 250 - 255 @Xig &0

2 % Rs. 245-249 crores | 245 - 249 @i &7

3. ¥ Rs. 240-244 crores | 240 - 244 FIE ®I0

4 # Rs. 235-239 crores | 235 - 239 Wi &7

Question Number : 76 Question Id : 3354726906 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What 15 the premium payable by farmers a5 4 percentage of annual commercial or horticultural Crops under

Pradhan Mantri Fasal Bima Yojana? | W= AT Bae ST Gi-1 & siatiq Trari @1 anii it a7 aiaT Bl &
TiiTEzm it @7 fopa= widerg 29T u=aT &7

Options :
1. % 10%
2. % 8%
3. ¢ 5%

4 ® 35

Question Number : 77 Question Id : 3354726907 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
According to the World .Bank, the per capita GDP (Nominal) of India in 2016 is
URT GIEIGED E

Options :

| o o @ argEw, 2016 ©

$1863
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g $1642

5 $1723

$1763

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 78 Question Id : 3354726908 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
India is NOT a member of which of the following organizations? | ¥RT WaiEd # & T @79 &7 9260 981 57

Options :

1. ® WTO | Seegetalt
® G-20 | S-20

V¥ G-8 | Si-8

. ® BIMSTEC | fevaew

M

L

N

Question Number : 79 Question Id : 3354726909 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
India’s Hurmnan development Index in 2015is______ .} 2015 ® 9RT T A TowTE goeid ______ 2

Options :

® 0367
.V 0624
® 0862
® 0561

o

W

Question Number : 80 Question Id : 3354726910 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The crop hawving the largest area under irrigation in India is

_____ | VT | S & ST S 92 5 ATl B ____

Options :
1. ¢ Wheat | T

2. % pulses | T
4. % Oil seeds | fimg

Computer Knowledge

Section Id : 335472207
Section Number : 5

Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20

Number of Questions to be attempted: 20
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Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472207
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354726911 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The ______ 15 code emmbedded in sorme legitimate program that is set to “explode” when certain conditions are

met. | ______ , T el TIUTH H T T0T ®iS 51aT g A1 Mied eaaar Qi 514 0 Taetaie’ g @ foiy #2 o ST g
Options :

1. ® Trap doors | SUESH

2. ¥ Trojan horse | 2+ g1

3. ¥ Logic Bomb | @lid Sqd

4 ¥ Virus | arRd

Question Number : 82 Question Id : 3354726912 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What are the two kinds of memory in a cornputer? | UF FUUIET § &1 AT 3 W 6T BENT a1 27
Options :

1. ® Hardware Memory and Software Memory | FTecat HANRT Ud Q1Fecar HATT

2 % Short Term Memory and Long Term Memory | 9T¢ 8 BART T @1 ¢H HART

3. ¥ Arithmetic Memory and Logical Memory | SEiRTEH AR Ud @Teida HHICT

4. ¥ Read only Memory (ROM) and Random Access Memory (RAM) | T SIHaT AR (T1H) Td tISH Uged Jai 7H)

Question Number : 83 Question Id : 3354726913 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following is an active cell in Excel? | Ugds §, FaAfeas 8 § #19 #f 0w 9 Uiged 9 gl 57
Options :

1. ¢ Current cell | & 8

2 % Formula | BIHAT

® Range | &3

#® Cell address | 97 029

w

s

Question Number : 84 Question Id : 3354726914 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the Mail Merge functionality in MS Word used for? | TATE 92 H Bl B BIAIqARdT BT HAT SHAT EIAT 57
Options :

1. ® Mail Merge is used to invoke Gmail or Outlook from MS Word. | Be B+, THUE g2 & SITHA 3T ATETqd J€ B o
Teity gedaTer fopa ST )

g %%]Mail Merge is used to enter email IDs in a document. | W 7<), Uw STggie § $Ha AT det wed & Ty Torg
ST
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3. ¢ Mail Merge is used to create and send bulk mail, labels and envelopes. | #d #f &1 UL Feld Hel, Heed a4

4. % Mail Merge is used to configure Gmail or outlook with MS Word. | Hel T &1 JULHT SH AT T3 &1 GHTT
TS o T BB Fe & Ty T Smar

Question Number : 85 Question Id : 3354726915 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : (0
What are the two entries needed to login a website? | Uw daarge § @ ® & o7 &= |7 g afafear snase gidT 87

Options :
1. #® Application name, email ID | UUeha= =8, SHa 2T

2. ® Application name, username | TUATHIA SH, AT 49

3. ® Username, ermail ID | 7T =4, SHA sMsaf
4 ¥ Username, password | & 6, UG08

Question Number : 86 Question Id : 3354726916 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which one of the following is the soft copy output device? | 40 & &9 €1 G1Fe HTUT HTITYe T2 87

Options :

1. ® Printer | fifex

2. ¥ Monitor | ATHeT

3. ¥ Plotter | yAle

4 % punch Card | T #2

Question Number : 87 Question Id : 3354726917 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

An alphanurmeric combination like “BS* in Excel would mean a: | Tas # "BS” W& SIaRiH a0 G (STAETHIH S
aa"fqzﬁgm T aref g g

Options :

1. ® Workbook address | Thg® Tod
2. % Worksheet address | g@ie 12d
3. ¢ Cell address | 97 U129

4. ® File name | WIEa &1 A7

Question Number : 88 Question Id : 3354726918 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

mmhfé,?%n is ugsgd to check spelling in MS Word? | TATE g2 | ad AT (GUieim) & e @ & oy 598 9 o armgad @1
LR REl| AT &y

Options :

2aéj
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Times New Roman -

v

w

4

Question Number : 89 Question Id : 3354726919 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The purpose of firewall in cornputer is: | FAIIET H BIRdTd BT Ig4d WA 51dT &

Options :

1. ¢ For security | g4 #e o oy

2. ® For monitoring | ! tad & fag

3. ® For authentication | SIfEmA (e a & oy
4. ® For data comrmunication | ST #HgHFe Fed & oy

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 90 Question Id : 3354726920 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

___________ is an example range in MS Excel. | ______, THUE UFHde § &7 &7 T IS0 3]
Options :

1. ¥ A1-B1

2 ¥ ALALQ

3. % AltoAlQ

4 % A1-A10

Question Number : 91 Question Id : 3354726921 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

_____________ is an Internet browser released by Apple. | _____ UIUA & ERT AR T 52T A1 gl
Options :

1. ® Chrome | ®I°

2. ® Firefox | BTG IET

Ly

3. ¥ Netscape | JeqaT
4. ¢ Safari | 9wTO

Question Number : 92 Question Id : 3354726922 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where are all the tabs (Home tab, Insert tab, etc.) located in MS Word 20077 | qHU® a2 2007 # @4 24 (517 4,
ST Tl ST T eI 919 87

Options :

% Title bar | T8¢ 9
® Status bar | e A%
. ¥ Ribbon | fraq

# Scroll | g#Te

SRS

LA}

s
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Question Number : 93 Question Id : 3354726923 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Te— shares hardware, software and data among authorized user. | UF _____ TR, HTFeday 9T STeT &1
STERTEAZ AT o el HTST &l gl

Options :
1. ¥ Network | e

2 % [p | amEdy
3. ¥ DNS | AU
4 % CPU | |y

Question Number : 94 Question Id : 3354726924 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The _________ key on the keyboard is used to erase anything typed on the left of the cursor. | F-a2 W
T BT IUANT FEC o A18 AT 120 Ty 7 depeqe ot T %Uﬁmw@

Options :

1. ® Caps Lock | &0d @Tw

2. ¥ Backspace | siqud

#® Delete | T2l

#® Cursor Control | #EC FEid

3.
4

Question Number : 95 Question Id : 3354726925 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
In Microsoft word 2007, bulleted list is available in which dialog box? | AE®METE g2 2007 ¥, geice e fad

STAANT 1T H IHAee
Options :

1. ® Font | BT

2. ¥ Styles | @TEAT

3. ¥ Paragraph [ TRTUTE

4. ¥ Editing | ufgfT

Question Number : 96 Question Id : 3354726926 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Viruses, Trojan horses and worms are knowr: | G150, 2 g16 1T a0 @1 6 ol AT 4T &

Options :

1. ¢ To harm computer system | FHIGCL THECH F1 g1 Uga= H &7 51d 3l

2. % To be undetected if affected on computer | af¢ FHUYET Pl IS X g 91 a1 FTHT GHe 51 51d71 5l
3. ® Asuser-friendly applications | WiigaT- 8= Qe &7 § gid 2

4 % As harmless applications resident on cormputer | FHIIET U W5 aTel gTwRied Tqe [ d= 51d o]

Question Number : 97 Question Id : 3354726927 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

______ is a dewice that joins telecommmunication links and groups of computers together. |
To TR e Tl T TUUgEl & g ®1 UF 9y a1 8l

Options :

1. ¥ Router | T13e¢
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2. ® Host | 31T
3. ¥ Hypermedia | gTEUHTSAT

4 % pPackets | Uehgq

Question Number : 98 Question Id : 3354726928 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The coding langL;?(%e used to create docurments for use on the World Wide Web is: [ Tve 158 o T I HE &
ol STargde d9R e 59, SEdATA Sl ST aTeiT ST oilels 9 o

Options :

1. ¥ HTML | T gaTa
2. ¥ HSMT | TaU9auAer
3. ¥ HLMT | TaUauAer
4 % all of the above | IWiFT a4t

Question Number : 99 Question Id : 3354726929 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

In wrwrwr Google corn, www stands for: | www Google corn ¥, www 907 & TolT wgea giaT 8
Options :

1. % web World Wide | o9 drig d158

2. ¥ World Wide Web | i T8 ddl

3. ® Wide World Web | 915E dris dd

4. % world Wide Weblinks | dg a138 defvied

Question Number : 100 Question Id : 3354726930 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

In MS-Word, Thesaurus tool is used for: | TAUE 92 ¥, fENE g7 STITIMT _________ o Tl o SmaT 81
Options :

1. ¢ Finding words with sirnilar meaning | TR e F1T B

2. ® Finding words with opposite meaning | Teudia srf Gt qeg I1T F

3. ® Copying of the word | &g ®I FUT A

4. ¥ Deleting of the word | ¥eg @ &l B



